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Subject : Mathematics

Grade : 12
Stream : Advanced Number of page :

Circle the letter corresponding to the correct answer :-

Alall L (x) Bad qu il gl (1
xX. =02 f(x) = sin 3x

1) Find the linear approximation
L(x)to f(x) =sin3xatx. =0

Use the linear approximation to : o ;
sin (O 6) u.ha.d\ ax

estimate the glven number

,c:::;- —3x sin (O 6))
— —3x,sin (0.6) 6 ﬁ
s 5

d) f(x)—3x sin (0. 6)~1 8

asE gl (e ) gl JS (2

2) All of the following can apply
Baslg 1ol Lgle il

L’Hopital rule except
Inx tanx
a) lim—- b) lim ———
x-01 — cosx




HIf f(x) = —x3+3x2+1 Alall 8 <ils ) (4
Then The function is increasing A 8 f(x) = —x3 +3x%2+1

if Byl Jia (45
a) (—o0,0) U (2, o) b) (0,2)
¢) (—o0,—2) U (0, ) d) (-2,0)

Then f
in[6/ ] e’

6)If f(x) =x%e™™
Then the local maximum at x




7) The shown graph represents

the function f(x)..

Find inflection

A Gl e Lils p gesall JS& (7
£ ()4l G3EN) L 2 i, f ()

Point for f(x)

&

i Limited Sctool Eds

&7

a) (—0.5,—-3.5),(0.5,—3.5)

c) (0,—-3)

b) (—1,—4), _(gﬁz;)
d) (-0.5,0),(0.5,0)

8) A 10ft ladder leans against the side
of a building. If the bottom of the
ladder is pulled away from the wall at
the rate of 3ft/sec, and the ladder

remains in contact with the wall

Find the rate at which the top of the
ladder is dropping when the bottom is 6
ft from the wall.

=10ft Jsbs plw <5 (8

s Al Gaw ol 1Y) Auall Qila
Jazay plaad) oo famg alad) G Adud)
bwadla aled) A9, 3 fE /sEC

@ slal) i hll 85 Jara 2o gl jlaall
6 ft LAl Gkl iy Latie alul
sl (e

= 2.25 ft/secﬁﬁ

dy el
a) ill_t&'_ ft/sec ﬁ’ d
c) d_i’ = —2.25 ft/sec d) —=

=4 5ftﬁ




9)If f'(x) = (x —1)*(x +2) ff(x)=(x—-1)>*(x+2)cd (9

Then f(x) is concave up AV B ke fx) Al o
a)(—,—1) U (1, ) b) (=2, )
c)(—1,1) d) (—=2,1) U (1,00)

=3

10) Determi 7 suitable graph S5 giay @) il ~(10

of a functi b 4ay)
2 ' 3 T

ﬁ fo0) = —




11) The shown graph represents ) Aidal) Gl Sy Lila p gau sall Judh (11
second derivative of the function |2 x =1 ,2 <, f (x) Adfalt &yl
f(x).ifx=1,2 are local e JS 4 gn aa , Adaa (g guad

extrema. Ildentify each of
them.

L . S L |

£
i
g

L.
'
B N =

a) Absolute max atx = 1,Absoluteminatx = 2
b) Absolute max at x = 2, Absolute min at x = 1
c¢) Absolute max atx = 1,Absolute max atx = 2
d) Absolute minat x = 1, Absolute min at x = 2

12) A square sheet of cardboard Job s s8all (3,9l (e drgya 43,5 (12
24 in is made into open box ( (ra g 5ihe (oaina Jas aly ¢ 24 ala
there is no t&p , by cutting J{‘-.ﬁ‘ s 5aY) gﬁa s las O%;&%J‘:i
squares o qual size out of each O g gl g ) G2 u-“"i
eraiid folding up the sidese| R ) Goaial) daghita gl | LS )
‘the dimensions of thfﬁg ﬁ (Saa axa S|

L . _
with the maximum volumeé: ks

a) 4,16,16 b) 4,20,20
¢) 12,12,12 d) 2,20,20




e(tanx+lnsec2x) dx

13)
a) e(tanx+insec®x) | .

C) e(sec’s) 4 ¢

14) 1fth

Hder is given with the 5
V =mnr*h ,7r = 5h, if the height
increases by 0.02 m/sec, Find the
rate of increase in the volume of the

cylinder when h = 14cm

dv
— = 3007

) d@t

b) eltan®) 4 ¢
e(tanx+Insec*x)

d
) sec’x(1+ 2tanx) e

A ) \3@ ¢ I qK| 71' = 5h Oy
0.02 m/sec J¥a g
&) gl ana & 320 31 Jana 2 gl
h = 14cm oS s

14406
625




15) Suppose that
C(x) =0.1x% + 4x + 200

is the total cost (in dollars) for a
company to produce x units of a
certain product. Compute the
marginal cost and actual cost at
x=10

a)marginal cost = 6,

actual cost =5.9

¢) marginal st = 250,
actual cgst = 244.1

16) Determine the position
function if the acceleration
function is
a(t) = 12t* —
v(0)

ft/sec?,
,s(0)=0

c) s( 4 — 4t + 4 ﬁgﬁ d) s(t) = 24t%§j

&

O pa Al (15
C(x) =0.1x% + 4x + 200
A8 Hall (LY 5all) Aallagy) A4l 2
AR aa g guital x Cilaa g LAY

Lx = 10 s Ayladl) A8l g dyaal

b) marginal cost = 5.9,
act l cost=6
3.”";’ arginal cost = 6, ﬁ

«actual cost = —5.9 §@?

¥

Ay S 1) auda gall A3 23a (16

@&Jw‘

a(t) = 12t* — 8 ft/sec?,

v(0)=4,s(0)=0

— 4t?% + 4t




17) If f(x) is continuous on [1. 5]

flz f(x)dx =4 f52 f(x)dx = -8
Find the mean value for the
function f(x) on [1.5]

18) Find the function that the

graph has asymptote lines

=8
(x) = 8x2
D) e  x2+5x—24
o >
°) f(X)_xz—Sx—24

b Al o Alaia Al f(x) oS8 (17
oSy [1.5]

f12 f(x)dx = 4,]52 f(x)dx = -8
@ f(x) Al Ao gial) Aagdl) an ol
[1.5] & A4l

8+ x
x> —5x—24

b) f(x)=

ol Ll (98 ) AVl 22 (18

c,ul.'iﬂ\h}hi
x=-8,x=3,y=8
B flx) = 8 + x?
) flx - x2—5x—24
S:xz
d) f(x)=—

x“+5x—-24




Inx?

y=/[ . edt <siy(19
2 snsf

dx

200 If f(x) = LI B Al Ao dlatia A3 f(x) oS3 (20
1+e* dlgdl) dad aa [0. 3]
continuous on [0. 3] ? = 3 :

— i
Find lim Y%, f(c;)Ax = lim Y7, f(c)Ax =
n—o0oo

ble3+1
) in(5)

%

e%ﬁﬁvl @g)z n(e3
) e In( H)ﬁﬁ

e 5




21) If f(x) is continuous
f:xf(x)dx =4x*> + bx—6
Find the value of b

a)3 +8+15+ 24 + 35 = 85
b)1+4+9+16+25=055
¢)3+6+12+18+27 = 66
d-1+0+3+8+15=25

23) Find the area above x—axis
and below curve of:

;‘/ L,
a)zArea = 18 o

c)

Area =9

Euay alaia 4300 f(x) Cails 1) (21

f63xf(x)dx =4x*+bx—6
b 4ad 2

W\J}Mdﬁﬂ\ahml\ a ) 23

L—IAAJ

b) Area = 36
d) Area =72




24) Using Substitution to 229l G illy Jalsil) aladiuly (24
Evaluate an Integral

b) u = x*

)

1
—sin x C
2

Ou=1-x%,2y1—-x2+c d)u=\/1—x2,\/1—x2+c

o e
o
¥ g

25) Using Substitution to 23 g) iy gailly Jalsil) aladindy (25

Evaluate an Integral

Jalsal)

¢ (Inx)>




